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Surface area of a Pentagonal Pyramid 
 Name:____________________________                                                                                                                          Date:_____________________ 

Find the surface area of a pentagonal pyramid? (a=apothem, b=breadth, s=slant height). 
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17 yd 11 yd 

13 in 
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30 cm 

18 cm 13 cm 

20 ft 
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28 mm 

21 mm 14 mm 

18 m 

11 m 9 m 

25 yd 

15 yd 10 yd 
22 ft 

13 ft 8 ft 
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Surface area of a Pentagonal Pyramid 
 Name:____________________________                                                                                                                          Date:_____________________ 

Find the surface area of a pentagonal pyramid? (a=apothem, b=breadth, s=slant height). 
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A =       840 ft2       
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A =       1935 cm2       
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A =       742.5 m2       
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A =       2205 mm2       
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A =       1572.5 yd2       
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A =       1312.5 yd2       
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25 yd 

15 yd 10 yd 
22 ft 

13 ft 8 ft 


